Multiply Unit Fractions by an Integer

1. Match the calculations to the images and complete the answers.

1 1 1
A. ”x9 B. 13x8 C.12x7

®e i
HW/Ext

2. Tick the correct calculation(s).
A. B. C.

1 __7_ 1 __5 1 __4
g X7 =73 9 X5 =7 7 X 4 =74

Y .
HW/Ext

3. Moff and Nadia are multiplying unit fractions by a whole number.

Moff says, Nadia says,
If | multiply % by If | multiply % by
3 then my answer 3 then my answer
P will equal - will equal —=.
I
-
i,

Who is correct? Explain your answer.
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Multiply Unit Fractions by an Integer

4. Match the calculations to the images and complete the answers.

1 1 1
A. g X 6 B. 12 X 6 C. 9 X 6
VF
HW/Ext
5. Tick the correct calculation(s).
A. B. C.
1 = 1.3 1 A A 1 I
5 X 8 =1 20 s X 7 =1 s R 5 1 4

VF
HW/Ext

6. Simon and Debbie are multiplying unit fractions by a whole number.

Simon says, Debbie says,

If | multiply + by

9 then my answer

will equal 13- will equal 1-3-.

Who is correct? Explain your answer.

If | multiply + by

9 then my answer

RPS
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Multiply Unit Fractions by an Integer

7. Solve the calculations and complete the images.

1 - L 1 - — 1 - L
A.5x7- B.4x5- C.7x9-

& i
Ny, &

VF
HW/Ext

8. Tick the correct calculation(s).
A. B. C.

]|
—

X
(o]
]
—_

1 1 o 1 1
g * 8 g X6 =17 5 3

VF
HW/Ext

9. Jonny and Liz are multiplying unit fractions by a whole number.

Jonny says, Liz says,

If | multiply % by

9 then my answer

will equal 1%. will equal 1%.

If | multiply % by

9 then my answer

N <
Who is correct? Explain your answer.
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Homework/Extension
Multiply Unit Fractions by an Integer

Developing
9 . 8 . 7
‘I.A.W, B.W,C.W
2. Aand B
3. Moff is correct because 1 x 3 = 3, so the fraction would be % . Nadia has multiplied

the denominator as well as the numerator and this is incorrect.

Expected

6 _ 3 .o 6 _ 1 ~ 6 __2
4 A g =4 By =7%C o =73
5.C

6. Debbie is correct because 1 x 9 = 9, so the fraction would be % which is equivalent

2
'ro'IT.

Greater Depth

2 1 2
7. A. 1T; B. 'IT;C. 'IT
8.Band C
9. Johnny is correct because 1 x 9 =9 and % is equivalent to 1 % which is also

equivalent to 1 % Liz has simplified her answer incorrectly.
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